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1. Answer the following as directed :
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{Clmose the correct uptmn_:u

(g What is unpc-rt suhshmhon?

(k) “The causes which determine the
_t:cann:m.lc progress of nations belong to

the study of international trade” is a
statement given by

() Marshal
(i) thardn L5
(1) Smith
(i) Ohlin

2. Write simrt netea on any four of the following
(within 150 words each) : 4x4=16
e fal quminmﬁf fcmhty
. (5 Nutrition and labour productivity

{ Confinued )

apfiilos

(@) Distinction between static and dynan
gains from trade

(e} l’nturnaﬁnnai tmde. as a ﬂt:mnhm H}

3. (a) What is age structure ﬁf a popﬂhtian?

- Explain the relationship between
structure of a population and its
'dependency burden. Is the dependency
burden I'ngher or lower in dmre}apdng

3 munmes? Why? | 3+5+3=11

i’

(b) Give your arguments in auppnrt of and
agamat the statement, “the population

T growth [d el Eeans p:_-ehlem in
dwe}upmg countnes e 11

.I-'

4. (a) Discuss briefly the mlﬂhﬂnﬂhlp hctwen:n
land reforms and  agricultural
‘productivity,. .. . e T Y - s |

Or BB

(b} What is a credit market? Mention the
. features of informal credit markets. Also
discuss how the hidden information
pruhhm be effectively dealt with the
microfinance. 2+4+5,.11

5. (1) What is meant by a community? How
can the community help in economic
dwciopmnt? Discuss. 2*\9’*13




[ : (b) Discuss the concept of environmental i
< ;'--f nﬂm‘nahuas. Also ghfc ways to tackje P
ﬂu pmbhmn of eﬂvmmmtal T

(a) Cd'ltﬂraﬂar discuss the thmch—Smgar
hypothesi 12




